
S800 reverse simulation with detector resolution 



Initial @ Target

V3_o5.ray

No angular acceptances
No FP slits
All Bounds are taken into account for the next steps

X’ vs Y’X vs Y

X vs dP/P



Simulation with detector resolution v.2

Direct @ FR +16.73 cm

Ideal resolution

V3_o5.ray

X’ vs Y’X vs Y

Y vs Y’

Case 1



Simulation with detector resolution v.2

Reverse @ Target
1st order  (5->1)
Ideal resolution

V3_o5.ray

Case 2-1

X’ vs Y’X vs Y

X vs dP/P



Simulation with detector resolution v.2

Reverse @ Target
1st order  (5->1)
Ideal resolution

V3_o5.ray

Case 2-1

YX

X’ Y’

X’ vs dP



Simulation with detector resolution v.2

Reverse @ Target
2nd order  (5->2)
Ideal resolution

V3_o5.ray

Case 2-2

XX vs Y

Y



Simulation with detector resolution v.2

Reverse @ Target
2nd order  (5->2)
Ideal resolution

V3_o5.ray

Case 2-2

X’X’ vs Y’

Y’



Simulation with detector resolution v.2

Reverse @ Target
5th order  (5->5)
Ideal resolution

V3_o5.ray

Case 2-5

X’ vs Y’X vs Y

X vs dP/P



Simulation with detector resolution v.2   

Reverse @ Target
5th order (5->5)

Resolution
dX = 0.25 mm
dX’ = 0.25 mrad
dY = 0.50 mm
dY’ = 0.50 mrad
dE = 0%

V3_o5_S.ray

X vs Y X

Y
Case 3
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Simulation with detector resolution v.2   

Reverse @ Target
5th order (5->5)
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Simulation with detector resolution v.2   

Reverse @ Target
5th order (5->5)

Resolution
dX = 0.25 mm
dX’ = 0.25 mrad
dY = 0.50 mm
dY’ = 0.50 mrad
dE = 0.2%

V3_o5_SE.ray

X vs Y X

Y
Case 4



Simulation with detector resolution v.2   

Reverse @ Target
5th order (5->5)

Resolution
dX = 0.25 mm
dX’ = 0.25 mrad
dY = 0.50 mm
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Simulation with detector resolution v.2   

X vs dP/P dP/P

Case 4
Reverse @ Target
5th order (5->5)

Resolution
dX = 0.25 mm
dX’ = 0.25 mrad
dY = 0.50 mm
dY’ = 0.50 mrad
dE = 0.2%

V3_o5_SE.ray

It corresponds  ~ 0.2 ns  TOF resolution



Simulation with detector resolution v.2   

Reverse @ Target
5th order (5->5)

Resolution
dX = 0.75 mm
dX’ = 1.0 mrad
dY = 1.5 mm
dY’ = 3.0 mrad
dE = 0%

V3_o5_L.ray

X vs Y X

Y
Case 5



Simulation with detector resolution v.2   

Reverse @ Target
5th order (5->5)

Resolution
dX = 0.75 mm
dX’ = 1.0 mrad
dY = 1.5 mm
dY’ = 3.0 mrad
dE = 0%

V3_o5_L.ray

X’ vs Y’ X’

Y’
Case 5



Summary

Case 3 :  current analysis for #12006 experiment  (S800)
Case 2-1 (inverse 1st order  LISE++)  & 4 (E from ToF) : non-acceptable

We  need (MH) for this  S800 particular case*

(1) at least 2nd order, 
(2) good spatial resolution, 
(3) an energy measurement that is clearly better 

than a typical TOF measurement.

* for A1900 (achromatic case) the 
conclusions may be different


